

## SLOT RECEIPT

GENERATED AT 2025-06-08 23:34 (UTC)



BLOCKCHAIN BEACON-CHAIN

SLOT ID 8342609

DATE & TIME Feb 03, 2024 · 04:44 (UTC)

SLOT STATUS In epoch 260,706 ⋅ CONFIRMED ✓

SLOT FEE NO FEE

## DEPOSITS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>1178830</u>	+ 32.000000000 ETH � 73,716.48 USD
2	<u>1178831</u>	+ 32.000000000 ETH ↔ 73,716.48 USD
<u>3</u>	<u>1178832</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>4</u>	<u>1178833</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>5</u>	<u>1178834</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>6</u>	<u>1178835</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>7</u>	<u>1178836</u>	+ 32.000000000 ETH � 73,716.48 USD

<sup>\*</sup> USD values displayed at the time of slot

8 1178837 + 32.0000000000 ETH ♥ 73,716.48 USD  9 1178838 + 32.0000000000 ETH ♥ 73,716.48 USD  10 1178839 + 32.0000000000 ETH ♥ 73,716.48 USD  11 1178840 + 32.000000000 ETH ♥ 73,716.48 USD  12 1178841 + 32.000000000 ETH ♥ 73,716.48 USD  13 1178842 + 32.000000000 ETH ♥ 73,716.48 USD  14 1178843 + 32.0000000000 ETH ♥ 73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 456669	9 1178838 + 32.0000000000 ETH	<u>#</u>	<u>Validator Id</u>	<u>Amount</u>
19       1178839       + 32.0000000000 ETH ♥ 73,716.48 USD         11       1178840       + 32.0000000000 ETH ♥ 73,716.48 USD         12       1178841       + 32.0000000000 ETH ♥ 73,716.48 USD         13       1178842       + 32.0000000000 ETH ♥ 73,716.48 USD         14       1178843       + 32.0000000000 ETH ♥ 73,716.48 USD         15       1178844       + 32.0000000000 ETH ♥ 73,716.48 USD         16       1178845       + 32.0000000000 ETH ♥ 73,716.48 USD         WITHDRAWALS EVENTS         #       Validator Id       Amount	10       1178839       + 32.0000000000 ETH ♥ 73,716.48 USD         11       1178840       + 32.0000000000 ETH ♥ 73,716.48 USD         12       1178841       + 32.0000000000 ETH ♥ 73,716.48 USD         13       1178842       + 32.0000000000 ETH ♥ 73,716.48 USD         14       1178843       + 32.0000000000 ETH ♥ 73,716.48 USD         15       1178844       + 32.0000000000 ETH ♥ 73,716.48 USD         16       1178845       + 32.0000000000 ETH ♥ 73,716.48 USD         WITHDRAWALS EVENTS       # Validator Id       Amount         1       456269       - 0.017742103 ETH ♥ 40.87 USD         2       456270       - 0.017783012 ETH ♥ 40.96 USD         3       456271       - 0.017807418 ETH ♥	<u>8</u>	<u>1178837</u>	
11       1178840       + 32.0000000000 ETH ♥ 73,716.48 USD         12       1178841       + 32.0000000000 ETH ♥ 73,716.48 USD         13       1178842       + 32.0000000000 ETH ♥ 73,716.48 USD         14       1178843       + 32.0000000000 ETH ♥ 73,716.48 USD         15       1178844       + 32.0000000000 ETH ♥ 73,716.48 USD         WITHDRAWALS EVENTS       # Validator Id       Amount	11   1178840	9	<u>1178838</u>	
73,716.48 USD  12 1178841 + 32.0000000000 ETH ♥ 73,716.48 USD  13 1178842 + 32.0000000000 ETH ♥ 73,716.48 USD  14 1178843 + 32.0000000000 ETH ♥ 73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount	73,716.48 USD  12 1178841 + 32.0000000000 ETH ♥ 73,716.48 USD  13 1178842 + 32.0000000000 ETH ♥ 73,716.48 USD  14 1178843 + 32.0000000000 ETH ♥ 73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 456269 - 0.017742103 ETH ♥ 40.87 USD  2 456270 - 0.017783012 ETH ♥ 40.96 USD  3 456271 - 0.017807418 ETH ♥	<u>10</u>	<u>1178839</u>	
13       1178842       + 32.0000000000 ETH ♥ 73,716.48 USD         14       1178843       + 32.0000000000 ETH ♥ 73,716.48 USD         15       1178844       + 32.0000000000 ETH ♥ 73,716.48 USD         16       1178845       + 32.0000000000 ETH ♥ 73,716.48 USD         WITHDRAWALS EVENTS       # Validator Id       Amount	73,716.48 USD  13 1178842	<u>11</u>	<u>1178840</u>	-
14       1178843       + 32.0000000000 ETH ☺         15       1178844       + 32.0000000000 ETH ☺         16       1178845       + 32.000000000 ETH ☺         WITHDRAWALS EVENTS       + 32.0000000000 ETH ☺         # Validator Id       Amount	73,716.48 USD  14 1178843 + 32.0000000000 ETH ♥ 73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 456269 - 0.017742103 ETH ♥ 40.87 USD  2 456270 - 0.017783012 ETH ♥ 40.96 USD  3 456271 - 0.017807418 ETH ♥	<u>12</u>	<u>1178841</u>	
73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount	73,716.48 USD  15 1178844 + 32.0000000000 ETH ♥ 73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 456269 - 0.017742103 ETH ♥ 40.87 USD  2 456270 - 0.017783012 ETH ♥ 40.96 USD  3 456271 - 0.017807418 ETH ♥	<u>13</u>	<u>1178842</u>	
73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount	73,716.48 USD  16 1178845 + 32.0000000000 ETH ♥ 73,716.48 USD  WITHDRAWALS EVENTS  # Validator Id Amount  1 456269 - 0.017742103 ETH ♥ 40.87 USD  2 456270 - 0.017783012 ETH ♥ 40.96 USD  3 456271 - 0.017807418 ETH ♥	<u>14</u>	<u>1178843</u>	
73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	# Validator Id Amount  1 456269 - 0.017742103 ETH  2 456270 - 0.017783012 ETH  40.96 USD  3 456271 - 0.017807418 ETH   0 0.017807418 ETH	<u>15</u>	<u>1178844</u>	-
# Validator Id Amount	# Validator Id Amount  1 456269 - 0.017742103 ETH  40.87 USD  2 456270 - 0.017783012 ETH  40.96 USD  3 456271 - 0.017807418 ETH   0	<u>16</u>	<u>1178845</u>	-
	1       456269       - 0.017742103 ETH ♥ 40.87 USD         2       456270       - 0.017783012 ETH ♥ 40.96 USD         3       456271       - 0.017807418 ETH ♥	WITHDRAWALS EVENTS		
1 456269 - 0.017742103 FTH ↔	2       456270       - 0.017783012 ETH ♥ 40.96 USD         3       456271       - 0.017807418 ETH ♥	#	Validator Id	Amount
<del>-</del>	40.96 USD  3 456271 - 0.017807418 ETH ❖	<u>1</u>	<u>456269</u>	
<del>-</del>	<del>-</del>	<u>2</u>	<u>456270</u>	
<del>-</del>	71.02 000	<u>3</u>	<u>456271</u>	- 0.017807418 ETH � 41.02 USD

<u>#</u>	<u>Validator Id</u>	<u>Amount</u>
<u>4</u>	<u>456272</u>	- 0.017484996 ETH � 40.27 USD
<u>5</u>	<u>456273</u>	- 0.017768293 ETH � 40.93 USD
<u>6</u>	<u>456274</u>	- 0.017764380 ETH � 40.92 USD
<u>7</u>	<u>456275</u>	- 0.017780775 ETH � 40.96 USD
<u>8</u>	<u>456276</u>	- 0.017765410 ETH � 40.92 USD
<u>9</u>	<u>456277</u>	- 0.017789226 ETH � 40.97 USD
<u>10</u>	<u>456281</u>	- 0.017750026 ETH � 40.88 USD
<u>11</u>	<u>456282</u>	- 0.017701978 ETH � 40.77 USD
<u>12</u>	<u>456283</u>	- 0.017701561 ETH � 40.77 USD
<u>13</u>	<u>456284</u>	- 0.017817050 ETH � 41.04 USD
<u>14</u>	<u>456285</u>	- 0.017731255 ETH � 40.84 USD
<u>15</u>	<u>456286</u>	- 0.017514171 ETH � 40.34 USD
<u>16</u>	<u>456287</u>	- 0.017559212 ETH � 40.45 USD

## PROPOSALS EVENTS

#	Validator Id	Amount
<u>1</u>	<u>1087269</u>	+ 0.042512028 ETH <b>⊘</b> 97.93 USD

## DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.

<sup>\*</sup> USD values displayed at the time of slot